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What is the least digit that must be added to the product 5786 x 5784 to make it a perfect
square?
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When a two digit number multiplied by the sum of its digits, the product is 424, When
the number obtained by interchanging its digit is multiplied by the sum of the digit, the
result is 280. The sum of the digits of the given number is?
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I 1433 x 1433 x 1422 x 1425 <t 12 ¥ fricra foram Smar 2, a6 e . 22
If 1433 x 1433 % 1422 x 1425 is divided by 12, then what is the remainder?
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What is the sum of the first 11 terms of an arithmetic progression if the 3rd term is -1
and the 8th term is 19?
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If x and y are natural numbers such that x +y =2017, then what is the value of (- 1)" +
=172
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Two- third of the number of employees of a company are males and rest are females. If 3/8 of
the male employees and 2/5 of the female employees are temporary employees and total
number of permanent employees is 740, then 7/15 of the total number of the employees exceeds
the number of temporary female employees are?
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The number of factors of 3600 is?
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If the 6-digit number 5x423y is divisible by 88. Then what is the value of (5x - 8y)?
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Find the least number which is a perfect square and is divisible by each of the following
numbers; 15, 24 and 36
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If the S-digit number 676xy is divisible by 3, 7 and 11, then what is the value of (3x - Sy) ?
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